TET 2022 _IA_SGT Session-1_19.08.2022

APTET — Paper- 1A — 2022

CPD
1. ‘Developmental Milestones’ proposed by
1. Elizabeth Hurlock
2. Skinner
3. Havighurst
4. Piaget
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2. According to parents opinion ‘Quarrelsome age’ is
1. Infancy
2. Later childhood
3. Early Childhood
4. Puberty
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“Deliberately tries to forget something” is
1. Inhibition

2. Memory decay

3. Repression

4. Amnesia
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Parents were afraid of heavy rains and floods. So 5 years aged
Anand also fears about rains. This belongs to
1. Fear of direct imitation

2. Fear of things
3. Fear of sorrowful incidents
4. Fear changes with age
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“Hero worship” a mental process is involved in this learning
Observational learning

1

2 Trial and Error Method

3. Programmed learning

4. Discovery learning
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According to Erikson ‘People develop relationship with the
people that are having similar thoughts, ideas and principles’ in
the following stage

1. Middle Adulthood

2. Late Adulthood
3. Adult hood
4. Early Adulthood
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The person who suggested the term ‘Mental age’ is
1. Alfred Binet

2. Stern

3. Terman

4. Edvard

“SeSDE SO500)” IS8 €y J¢5ed VIDoWSE
1. eﬂ@gé AN

2 39

3. @6&5

4. ‘Ddﬁg

According to Piaget, the stage that the child bathes his doll
1. Sensory-Motor

2. Pre operational
3. Concrete operational
4. Formal operational
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The record book in which children record their own thoughts
1. Case study

2. Interview

3. Reflective Journals

4. Anecdotal Record
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A person who lost his job, cries like a child is

1. Compensation
2. Regression

3. Projection

4. Sublimation
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“Motivation is the basis to learning” defined by
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Observation of students playing in the playground

1.
2.
3.
4.

Natural observation
Controlled observation
Artificial observation

Introspection
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Author of the book “Man’s search for meaning’
1. Skinner

2. Victor Frankil
3. Thorndike
4, Bruner
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The result of anticipated frustration is

1. Jealousy

2. Anxiety

3. Curiosity

4. Fear
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Number of picture cards in ‘TAT’
TAT & Dgren &) S Bovs
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Sequence of Bruner’s three modes of representation
1.

2.
3.
4.
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20
10
30
1

Enactive, Symbolic, Iconic
Iconic, Enactive, Symbolic
Enactive, Iconic, Symbolic

Symbolic, Enactive, Iconic
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Objective type questions are related to
l. Recall

2 Recognition

3. Re - Learning

4 Concentration
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The proponent of “The law of single variable
1. Wilhelm Wundt

2. Erikson
3. John Stuwart Mill
4. Gessel
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‘Plateau stage’ in Learning
high speed

1.

2. fluctuation

3. permanent

4. Temporary
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The method that researches the present status is
1. Historical

Relational
Descriptive

2

3

4 Action Research
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Maximum storage space that we can get through ‘digital

locker’

5050 ‘BReS erss’ oo KORon POSKOR Doy Hoo

l. 1GB

2 100 GB
3. 10 GB
4 20 GB



If badminton skills disturb us while playing
shuttlecock, this is

1. Positive Transfer

2. Negative Transfer
3. Zero Transfer

4. Bilateral Transfer
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To make students interested in the lesson, teachers
1. Ask the children to write the notes

2. Discussions should be held
3. Lesson should be taught seriously
4. Instruct them to sit quietly
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The following is the first socializing agency

1. Family
2. School
3. Society

4. Neighborhood
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In this type of child rearing practice, parents show a
withdrawal nature towards children

1 Authoritative

2 Uninvolved

3. Involved

4. Permissive
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‘Tabula Rasa’ means
Paper

Slate
Blank Slate
Heart
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According to NEP — 2020 curricular structure (5+3+3+4)
stage ‘4’ is for this age group
1. 13 — 16 years

2. 14 — 18 years

3. 12 — 15 years

4. 15 — 19 years
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Heuristic method is

1.
2.
3.
4.

Teacher Centered Teaching
Child Centered Teaching
Content Centered Teaching

Interactive Teaching
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‘Out of School Children’ means

1.
2.
3.
4.

Dropout children
Child labourers
Frequently absent children

Overage students
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30.

JVK Kits are given to children of these classes

1.
2.
3.
4,

6 — 10 classes
1 — 10 classes
1 — 12 classes

1 — 5 classes
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Telugu
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Telugu Methodology
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62.

63.

64.

English
Some of the food by me yesterday.

Choose the correct tense form to fill in the blank

1 wasted

2 is wasted
3. was wasting
4

was wasted

Don’t tell anybody,

Choose the correct question tag.
1 do you?

2 shall you?
3. aren’t you?
4

will you?

Swami replied respectfully that his mother had been
suffering from fever.

The underlined word ‘respectfully’, indicates

1 anger

2. attitude

3. fear

4 ambition

Tom i1l since Christmas.

Choose the correct tense form to fill in the blank.

1 has been being
2. has been

3. has had
4

was been



65.

66.

67.

68.

Choose the noun that has no singular form.

l.

2
3.
4

Binoculars
Economics
Statistics

Mathematics

Choose a possessive word that can’t be used before a noun.

1
2.
3.
4

his
her
ours

its

Choose the semi modal verb from the following .

1 can

2 could

3. may

4 be supposed to

Row your boat gently the stream.

Choose the word that fits the blank.

1
2.
3.
4

below
under
above

along



69.

70.

71.

72.

Which of the following is used to write a complex sentence?

1 because

2. o

3. but also

4 both

There was no work in the building. , the workers

had to be sent home.

Choose the word that links the two sentences.

1
2.
3.
4

Even though
Though

As a result
Although

Choose the complex sentence.

1
2.
3.
4

If the rain stops, we will go out.
He is tall but he is weak.
He wanted to meet me so he walked fast.

She is not only a doctor but also a professor.

Ratan is making pots.

Choose the passive form for ‘is making’.

1
2.
3.
4

is being made
was being made
are being made

are made
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Choose the correct meaning of the word underlined.
The earnings were meagre.

1 very high
2. very small
3. nil

4 full

Choose the suitable prefix to get opposite of
the word ‘acceptable’.

1 ir
2 un
3. non
4 il

Choose the suitable phrasal verb that fits the blank.
Although we had little chance of success, we didn’t hope.

1 set up

2. look after
3. give off
4

give up

Gopal is tallest of all in the class.
Choose the correct article to complete the sentence.

1 the
2 an
3. a
4

No article is needed
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78.

79.

80.

Choose the correct word to complete the question.

Ll

did you come to school?
What
When
Where

Have

Choose the punctuation mark to combine two main clauses.

1
2.
3.
4

Semicolon
Apostrophe
Hyphen

Quotation mark

Superscription in a letter consists of

1
2.
3.
4

Address of the receiver
Place & Date

Body of the letter
Heading

Choose the word that comes after ‘marsh’ in a dictionary.

1
2
3.
4

major
mass
magic

margin
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Choose the correct spelling of the past form of the word
‘travel’.

1 travelled
2 traviled
3. travlled
4

travled

Choose the word that has a suffix.

1 pardon

2 remove
3. constant
4 bravery

Read the following passage.

Children with overweight are facing problems at school.
Instead of learning and concentrating on their work, many
children are developing low self-esteem and even depression
because of teasing. The cases of obesity are growing due to
lack of physical exercise. With more and more homework, kids
simply do not have enough time for proper amount of exercise.

Obesity is a reason for

1 teasing in schools

2 developing standards in schools
3. high concentration on learning
4

giving too much home work
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87.

Read the following passage.

Children with overweight are facing problems at school.
Instead of learning and concentrating on their work, many
children are developing low self-esteem and even depression
because of teasing. The cases of obesity are growing due to
lack of physical exercise. With more and more homework, kids
simply do not have enough time for proper amount of exercise.

Kids do not have enough time for physical exercise because of

1. their overweight

2 excessive play time
3. too much homework
4 obesity

“English is a window on the world.”
This statement was given by

1 Gandhi

2 Nehru

3. Radha Krishnan

4

Official language commission

‘Code-switching’ is useful

1 in learning a second language
2 in direct method of teaching

3. in learning the first language
4

in writing a composition

The following is not a reading activity.

1 post reading

2 pre reading

3. collaborative reading
4 Michael West reading



88.  The following does not come under punctuation.

1. using a question mark
2. using a hyphen
3. using a comma

4. using correct tense forms

89.  Richards and Rodgers belonged to

1 Communicative approach
2 Structural approach

3. Natural approach

4 Bilingual Method

90.  In micro teaching, each small group will be called

a social group
a peer group

1

2

3. a novice group

4 a supervising group



Mathematics

In Roman numerals ‘C’ stands for

‘C &3 8500 @550 Do dogg
1 10
2. 1000
3. 100
4 1

Among the following numbers the composite number is
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l. 19
2. 6

3. 23
4 29

0.7499 lies between these decimals

1. 0.7 and 0.74

2. 0.75 and 0.79

3. 0.749 and 0.75

4. 0.74992 and 0.75

0.7499 (808 2 §F°07e M5 GO
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94.

95.

96.

97.

The perimeters of a rectangle and a square are equal. The
length of the rectangle is 14cm. The perimeter of a the square is
44 cm. Then the area of a rectangle is (cm®)

2.5 8Y SET(H0, SEIR0 HepSosen HSrSo.
BESEB(H0 FE 14 . SET(R0 SoepEOS 44 0.2
@008 BY BRI FTog0 (F. 20.00.05)

1 128
2. 112
3. 224
4 56

Number of minutes in a day
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1 84600

2. 86400

3. 2880

4 1440

When we see the letter ‘T’ in mirror, the image is

T 05 050°) ©goS° SPASY)@D T (HSDowo
—

1
2. L
3. T
3 —

The fourth proportional to 0.12, 0.21 and 8 is
0.12, 0.21 50805 8 © 5953%2635"9590

1 8.9
2. 14
3. 17
4 56
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99.
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Cube root of 729 is
729 &oﬁb WS SO0

1.

2
3.
4

3
9
81
7

The circumference of a circle and the perimeter of a square are
equal then the ratio of their areas is
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The value of 18+16+{26 - (14-7-3)}

18+16+{26-(14-7-3)} Dews

1
2.
3.
4

18
19
20
21

36 men can do a work in 12 days. Number of days required to
complete the same work by 48 men is

2.5 DA 36 $H08 YR 12 §eroS’ JroBdS & DA
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102. “If a number is multiplied by thrice and subtracted 10 from it
gets 13” the statement represent the following

“2.8 Dopg B0ty Sty $00d 10 J SJIY 13 Sos.”
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x+3-10=13

¥-10=13

3x-10=13

3x 10~x =13

=W

Ty+2 6y—35
5 11
Ty+2 6y—35
5 11

103. then y =

el e

104. The smallest composite number greater than 10 is
10 5085 5,3 $BAw W& D) VOINY Do

1 8

2. 10
3. 12
4 14



105.

106.

107.

If we add the additive inverse of _?4 to the product of the

reciprocals of _79, % then the resulting number is

9 5 4 5
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2. 0
3, =
18
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Marked price of a cycle is Rs. 3600 sales price is Rs. 3312 then
what is the discount percentage.

2.5 23S (9503 Jo . 3600 $HB050 %050 Jo 8. 3312
©O0S SAOY TS0 55087 0k

1 8%
2 9%
3. 7%
4 6%

If the angles of a triangle are 12x°, 3x°, 3x° then x° =
o8 (b SPezeen 12x°, 3x°, 3x° 0208 x° =

1 5°
2 10°
3. 15°
4 20°



108.

109.

110.

111.

1000000000 m* = km’
1000000000 25° denss 8.55.° &

1
2.
3.
4

1

10
100
1000

A person purchased a TV for Rs. 15,000 and sold it for
Rs. 14,100 then percentage of loss is

2.8 ;5§§ €3.9.0 &e. 15,000 §° &5, 14,100 @3)0&26 SQFTSB0

1
2
3.
4

5%
6%
7%
10%

The Arithmetic Mean of 10.25, 9, 4.75, 8, 2.65, 12 and 2.35 is
10.25,9,4.75, 8, 2.65, 12, 2.35 oo 908Ke3es 53(‘.55;530

1
2.
3.
4

7
8
9
6

In a triangle base is 18 cm., height is 13cm. then its
area (in cm®)

(D2H20 @Y 47 18 0.0., Je8y 13 0.2, ©00S
@dbe FFego (S0.2.08°)

l.

2.
3.
4

117
48
127
78



112.  The perimeter of a triangle whose sides are 2a+3b, b—a, 4a—2b
2a+3b, b—a, 4a-2b e Zhzrevrie (Hz2s0 BSOS

1 6a + 2b

2 S5a+2b

3. 5a-2b

4 6a—2b

113.  You and your passport size photo image are

1. congruent
2. similar

3. equal

4. equivalent

T 58650 B0, FHAF e Ao FeSen
1. mgsmirmen
DETIPe

PONSLINLIOY)

L

263539‘.&)@53530

114. The number of symmetrical lines for the letter “N”

“N” 93 g8 Ko @Q;S To oy

S = N W

1
2.
3.
4



Maths Methodology

115. The Maths talent search exam for school students across the
globe is

(B90 Fgon ;BT Pow 3@56505%0 EOCESZJl’oZﬁ
Ke3SS (5DerS(es 23 985

1 PMO
2 CMO
3. IMO
4 MIO

116. According to Richard. R. Scemp types of concepts are
85§ .36.2),08 (¥5°C0 wrSSS Sseen

1 4

2. 3

3. 1

4 2

117. “Teaching method is an instrument to achieve teaching learning
objectives” stated by

1. Wesly - Stanly

2. Cant
3. Meckbeth
4 Roland

“25"’&5@2;556:6 OFIRNO FPROBEIY &DEBON 5D St
Lﬁg@" @0 3ODISH

2. o0&
3. s
4. So0&



118.

119.

‘Student is able to compare characters of cylinder and cone’
This is the specification of

1. Knowledge

2. Understanding

3. Application

4. Skill

“;’)m&g Brd0, 00, TY) OFETOD ;’Jsenb)@céo”
B )R888 HAS TocHS0d.

1. 250

=y
2. €9STTPTO
3. SISl rafe)
4. g‘@m§o

The following is not the principle of “Synthetic Method”

1. Opposite to analytical method
2. Known to unknown
3. Follow logical deductive steps

4, Structural method
808 IS’ “H0TRer HEB” BBO =AY
[3p] P

1. zsg:m el 5§®8§ B3S° 90208
BODS VA0 008 BOAND RSP E
T8 AADTSYE FP IO 00

L

K)Uf’&es"é&§ Zage‘@



120. Indian grammarian who used binary method from 2 to 2%

1. Bharavi

2. Pingala

3. Somana

4, Varahamihira

& voFrgITId) 2 $00d 2% 555 EDBTR0DS 2SS
TFEEEIDS

1. EARloN)

2. NDONRY

3. RNOIN

4. ST



EVS

121. An example for microorganism that benefits farmer
1 Lactobacillus

2 Penicillium

3. Rhizobium

4 Amoeba

BED erzio TEFV) WrRRI8 GETSe
1. SRS

2D

DS DAH

= LN

92T

122.  Cotton crop is grown in

1. Sandy soil

2. Black soil

3. Loamy soil

4. Red soil

B8 Doe Be JoS° HoEEH0d.
1. 8 Jo

2. SYBKE Jo

3. 2,050 Jo

4. ATBKE Jo



123.

124.

The following is an example of viviparous animal
1. Fish

2. Snake

3. Dolphin

4. Frog

808 AS° BT VIS 20IIH STHETe
L [

2. F30

3. m@q)li_

4. S

Cell wall in cells can be observed under

1. Optical microscope

2. OMR

3. Compound microscope
4. Simple microscope

58283 e HBESO o RISLUISHRGA)
L epsS Sr5est

20.990.e38.

KOCS0Y BrEIEOR

WD

DY K)J"é&d@gi)



125. Seeds dispersed through air
1. Seeds of lotus
2. Mustard seeds
3. Seeds of pea
4. Dandelion seeds

O oNo° g Bo8 AT
1. SPNT JEIT°e
e3:5R023e0

Do) &> BT

L

ROTOONR JBToen

126. Among the following the one that is not an example for Mass
Communication

1. Services of Post Office

2. Newspapers

3. Television Channels

4. Social Media

208 TAS° TVY VITTY (PP TINIH SETTe A0

L Py dseo

2. OB Een

3. B0dmS I
4. DSBS SrEgEH0



127.

128.

The feature available in mobile phone that enables us to speak
to two or more persons at the same time

1. Personal call

2. Private call

3. Public call

4. Conference call

S B SOBEOE I I 0B’ IPerEoeH IS
FSS® &od VeI 0

L 9BSS &5
2. I8 S
3. xS

4. 953653 S$8

The latitude that divides the globe into two equal parts is

1. Equator
2. Tropic of Cancer
3. Tropic of Capricorn

4. Arctic Circle
ig‘;apéo ©EOM® BOD DITS 2O JAJLOW ©9FP0F0

1. BoS0e5 B

2. 555 Op

3. $o58 O

4. 0 8F Soaho



129.

130.

131.

The instrument that measures the wind speed
1. Anemometer

2. Hygrometer

3. Thermometer

4. Odometer

d IR FoSEAd GIBA0T HBET0

1. IR D
OV AN Y
6@&50&36)
&P

Ll

The property of a metal to make fine wires
1. Malleability

2. Ductility

3. Conductivity

4. Sonority

&Y YD Bifeor STHNIR S50

1L RESaHes
2. L2 plo T INT
3. JOTE e
4, Cjosi)?bs'ao
Expand “LED”

“LED” 93805

1 Light Emitting Display
2 Low Energy Display

3. Light Emitting Diode

4 Light Emitting Detector



132.  Roots of these plants are used in making fragrant oils
1. Lemon grass
2 Tape grass
3. Camel grass
4. Wheat grass
55 08, T WAOFITFRE SS5TOS” IIBFATL.

L %y K&
2. &5K8

3. s AG
4. R K&



133.

134.

Social Studies

The Forest Right Act was passed in

1.
2.
3.
4.

December 2005
December 2006
September 2005
September 2006

e9¢dd) BN © B0 SrBOBES D0SSYT0

1.

L

&2o0205 2005

&20205 2006

22028 2005
(M)

22028 2006
(M)

The network of latitudes and longitudes is

l.

o

3.
4.

Globe
Atlas
Grid

Contour lines

S0, BroF e’ bdo)&é 50 508 93508%

1.

- W N

RS
(ep]

€982

(qp]

W&

5208378 Bpen



135. The symbols of Swastik (th) are most commonly found in this

civilization

1. Chinese Civilization
2 Indus Civilization

3. Sumerian Civilization
4 Egypt Civilization

s KOESS’ RS () DIYeo HEI 0 SADI00
1 LI 08

DOET KDL

R0 TKOES

W N

Saed) KOES

136. Philosophical texts dealing with soul, mysteries of nature
1. Rigvedas
2. Aranyakas
3. Upanishads
4. Brahmanas

G8), (DE)B S5 K80 BOHED or&(¥ (Koo
L e200fgeso

2 TS0
3. EOVAL
4

&S QET



137. Identify the correct chronological order of the Kakatiya rulers

1. Ganapatideva, Rudradeva, Rudramadevi, Prataparudra
2. Rudradeva, Ganapati Deva, Rudramadevi, Prataprudra
3. Prataparudra, Rudradeva, Ganapatideva, Rudramadevi
4. Rudradeva, Rudramadevi, Prataparudra, Ganapatideva

808 T8S° TEHDH FoHe VTS TE0 KHOoSod

L KeandB9, SSBYE, HIEHAY, (D90
2. SEBIE, KeaddBYE, HIEDHAY, (DI
3. (DETHSE0E, SHIEBHE, KeandBYH, H(ESe
4, SHEBIE, BISHB, (DI, KeaddBHeE

138. The beginning of Industrial Revolution
l. 1750 — 1850 AD
2. 1650 — 1750 AD
3. 1945 -2010 AD
4. 1650 — 1850 AD
FBEFDE RS0 (FEOFPS S°00

1. &4 1750 - 1850
&.%. 1650 - 1750
\&.%. 1945 - 2010

- w0 N

&.%. 1650 - 1850



139. The leader of “Sarvodaya”

1. Gandhiji

2. Netaji

3. Vinoba Bhave
4. Tilak
“‘:6560365(553" PO EIED
1. modd

2. JorR

3. A% g

4, S

140. The first state in India that introduced the “Mid Day Meal”
scheme is

1. Karnataka

2. Andhra Pradesh

3. Tamil Nadu

4. Kerala

TESTFOS” J00g RSO Sogrgem) BeS HESR) (BIFHES
mg..}o

1. §U§e3§

e30(PPBT

B FI°CD

L

35¢



141.

142.

“Tallapaka Annamacharya” belonged to this period
THTE OJNITT I B8 SPOPAS BoBIIW

1
2.
3.
4

1486 - 1534
1408 - 1503
1497 - 1545
1620 - 1680

Printing press was introduced in India by

1.
2.
3.
4.

Persians
Greeks
Europeans

Chinese

PESTIOS” )A00(E™R) (FIFHESO

1.
2.
3.

DOAND

o ™
e
A300°8° 20
DA



143.

144,

“Caste system” in Kerala was strongly opposed by

1
2.
3.
4

I. V. Ramaswami
Narayana Guru
Govindarao

Mariyappan

S5 0RoS” “Ho 557D SBTo GRS

1.

BN

£.9. U°;So£r°£§b
JPOPAEIKOTD
Nl TnlonN)
HBAN)S

The practice of “Sati” was banned in the year
DI BTI0E® “VESTRIS0” AABODS HOSS)B0

1
2.
3.
4

1825
1827
1829
1831



145.

146.

Films made by the Government or Private organizations based
on different scientific subjects are

1. Industrial films
2. News films
3. Documentary films

4. Film strips
D) VLB S IAATOP SErEDE (He0S[0), (e
ROPTR SATPEHLBD DEren

1. FBBWE D(Teen
JT, V(B

THRooed dgres

- LN

(B POTeD

“The structure of Science is compared to construction of
Building” is stated by

1. Einstein

2. Henry Poincare

3. Richardson

4. A.W. Green

“epIT(RY o7 WSS 30"&8’30"958 ;?ﬁébéméo
1. 335%35

QI o008s

asgns

- W N

AW. S



147.

148.

The following is not a Student Centric Approach in teaching
science

1. Investigation method

2. Scientific method

3. Discussion method

4. Lecture-Demonstration method

308 TREET &dKSreS” AoE To@ES &DKHO SO
L od(er 958
@
8 “
2. PO HES
3. o) :agé:a

Imitation, manipulative skills, precision, articulation and
naturalization belong to this domain

1. Psycho-motor domain
2. Affective domain

3. Cognitive domain

4. Reflective domain

@SOBTE0, T, FYe0, 0ABEHKO, &im\5es, JIRESE0
93D s FormredE TodSY

1. SSDE 125@:?95&§ SoXKo
LR S0Ko

230 J°¢H &5 Soxo
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149. “Newspapers and Magazines” are the examples of
1. Physical resources
2. Unwritten resources
3. Primary resources
4. Secondary resources
ToRH@Sw, SRR B8 e
1. DT SSToew
2 0PSB IISToew
3. (PPEWE ISBoe0
4

&5@0&) SSBen

150. Maps used by the student to know about the transport system
1. Outline maps
2. Political maps
3. Relief maps
4. Geographical maps
Y BTET SrTTOH BLOROEDHOH GIBTAH Deren
1. S0P HETPeN
2. oezdoh weren

3. 89S Heren

FREDE Heeen
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